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1. A _____ topology is multipoint

bus

2. A network can be divided into subnets using _________

netmasks

3. the central controller in a star topology is called _____

hub

4. Which of the following is not a disadvantage of bus topology?

The amount of cabling and that of I/O ports required

5. The top of the Unix file tree is called _______

the root

6. Transfer Protocol (FTP) transmits at port ____

21

7. ______ is a connectionless protocol

UDP

8. One of the following is found at the application layer of the OSI Model

FTP

9. One of these is not an operating system

Dell

10. Which of the following is not an advantage of ring topology?

robustness
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